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Q1. If the nine-digit number 7p5964q28 1s completely divisible by 88, what is the value of (p>—q), for

the largest value of q, where p and q are natural numbers?

TS =t STt T HEAT 7p5964q28 88 T T aLE H farwTsa B, A1 q o T 9 W o TN (p>—q) 1 HH AT R,
STET p 3N q TTehiceh HEATE &2
(a) 72 (b) 9 (c) 0 (d) 81



Q2. The sum of the digit of a two digit no. 1s 1/7 of the number. The unit digit 1s 4 less than the tens

digit. If the number obtained on reversing its digit i1s divided by 7, the remainder will be?
<1 3iehT T HEAT o 37k T TN TEAT HT 1/7 81 THIS 3ok TS 3ok U 4 7 3| AT 3k Al IeTe I ITH T

&t 7 9 fenifsia foram ST 2, o Sswet SR g?
(a)4(b)5(c)1(d)6




Q3 . Three articles are bought at Rs. 200 each. One of them is sold at a loss of 10%. If the other two
articles are sold so as to gain 20% on the whole transaction, then what is the gain percent on the two
articles?

. T &GS Rl 200 TR Fieh SR oh G H TRIST ST ©. 394 H Th skl 10% T ST T ST ATl 81 I 3=
21 TEQST T I AT TT 20% ATH TTH L oh TeTT ST I &, 1 ST &3l 0 T TieRTd a1 27

(2)32 (b)35 (¢)28 (d)30




Q4 . An article was sold at a loss of 24%. If it were sold for 1,596 more, then there would have been

a gain of 18%. The cost price of the article is:

. Tk T ol 24% h1 BT T ST ST ©. 3T 36 £1,596 318k § ST SATCT, 1 18% hi AT BIelT| S o
WIIC\FJ%:

(2)%3,600 (b)T3,800 (c)T3,400 (d)%4,200




Q5. A, B & C can all together do a piece of work in 20 days, in which B takes 4 times as long as A & C
to do the work and C takes 3 times as long as A & B together take to do the work. In how many days B
can alone do the work?

. A, B 3R C @+t fireTsht Te sl st 20 o1 H 3 Eehd @, fSTEH B o1 A 3T C ¥ 4 THT 311 91T 7T @
H C I A 3R B fHeTe 36 o sl shid H 7 el GHI T 3 THT T4k §7 id 81 B 3Tohcl 36 1 !
forat ToHT H O 3T EohelT 87

(A) 80 (B) 100 (C) 120 (D) 60




Q6. A tank can be filled by pipe A in 2 hours and pipe B in 6 hours. At 10 a.m. pipe A was opened. At

what time will the tank be filled if pipe B 1s opened at 11 a.m.?

Ueh 2oh1 ol UTST A I 2 B¢ 8 3R U159 B 51 6 B¢ H Wl ST Hehell 81 oIg 10 SIS{ U189 T @it 1) Afe 139 B
I GaiiE 11 SIS @Iell STdT 8, T 9ht Tohe S i STt

(A)12.45am. (C)11.45am. (B) 5 p.m. (D) 12 p.m.




Q7. A and B are two stations 1200 km apart. Bus X starts from station A towards station B at 60 kmph 2
hours before Bus Y starts from station B towards station A. If they meet at a point 360 km from station B,
What 1s the speed of Bus Y?

A 3T B &1 &M Th-gat § 1200 fohefl &) 518 X, WM A U &I B sl AR 60 Tepafl et sie skt 7ifer & =remn
Y& LT €, S Y T B 8 I A shl A A el 81 i< o LI B U 360 fohrlt 37 weh foig W firerd €, a

Y <t TTfr T 29
(A) 45 kmph (B) 90 kmph (C) 60 kmph (D) 30 kmph




Q8. A train travels for 7 hours at the speed of 27 km/hr. and for 9 hours at the speed of 38 km/ hr. At the end
of 1t driver finds he has covered 3/7th of total distance. At what speed the train should travel to cover the
remaining distance in 24 hours?

Ueh ¢4 7 ¢ 27 Tohi/aeT ot 71T § 37X 9 5 38 Terwfl/sieT &hl 71T & ATAT Shid 7. 39eh 3id U TTeleh UTdT & foh 36
el U1 T 3/7 T 1 ohL foram &) 919 gl 24 S0 6 o ot oh ToTU ¢of =hl Tofdt Trfer & 2Amaim skt =mfee?

(A) 29.5 (B) 20.8 (C) 27.25 (D) 32.75




Q9. It takes a boatman 8 hours to cover a distance of 60 km upstream in a river while to cover the same

distance in downstream takes 5 hours. What will be the speed of the boatman in still water?

U Tieeh =hl e o Ficiehet 60 fehtfl sl o a7 T | 8 ©E AT & STelieh T U =Rl €T o SFTehed 08 A H 5
T o §. Teer Tt o arfaren hi Tifa o gnft?

(A) 9.5 kmph (B) 9.25 kmph (C) 9.80 kmph (D) 9.75 kmph




Q10. A path of 2.5 m width surrounds a rectangular garden of length 10 m and breadth 8 m. Area of the

garden inclusive of the path 1s: (in~ )

2.5 HieT TeTs a1 Ueh TET 10 HieT ddTg 3T 8 Hie IS dTet Ueh STRIATShIT S oh IR 37K 8. 99 Hied
ST T &A% ©: (~ 1 9HY)
(A) 130.25 (B) 131.25 (C) 195 (D) 162.5



https://sq.cm/

angles of elevation of the tops of A and B are 30° and 60°, respectively. The ratio of the heights of B

and A 1s:

LW A 3R B TH TR dTed &1 T )| Sk 9 ol ST dTed! 1@ o 0 foig 9, A 31N B o 9fid & S+
10T SHAST: 30° X 60° 8| B 3T A shl S5l skl ST T 22

(A) 1:3 (B) 3:1 (C) 2:1 (D) 1:2




Q12. Eight years ago, the ratio of ages of A and B was 9:10. The ratio of their ages four years from now

will be 12: 13. What is the age (In years) of C now, if his age 1s 6 years more than that of A?
TS Y YA, A 3T B 3T 371 Al AT 9:10 ATl 3T § AR I S1¢ k! Y T AT 12: 13 I Fid
3UH! AT A I AT H 6 T AU &, Al 319 C Al T (T H) FAT 22

(a) 56 (b)42 (¢)50 (d) 48




Q13. If the ratio of selected to unselected candidates was 14:25. If 35 less had applied and 10 less

selected, the ratio of selected to unselected would have been 3. 5. What 1s the Number of candidates
who have applied for a job?

i AT SFHIGHT shl ST SFHTGET | STAT 14:25 9Tl Il 35 3 AN ST {1 BT 3R 10
HH TR BId, q1 = ST ST 3T ST 3 BT 5. F1o oh AT HTeeT i dTed ST 6l
G T 82

(a) 200 (b) 175 (¢) 275 (d) 195




Q14. A vessel contained a solution of acid and water i1n which water was 64%. Four litres of the solution

was taken out of the vessel and the same quantity of water was added. If the resulting solution contains

30% acid, the quantity (in litres) of the water in the solution, at the beginning is the vessel, was

Teh UTH | THHE 37T T hT ot © ST 9T 64% . 519 H & IR of1eX 9t THehTaT STTaT @ 31T 99 91 5 gt
(AT STTaT ©. Jfg IRorH foret== & 307 7%t &, a1 TR H oI | foeta U STet ahl AT (efteX /) fohaHT eff?

(a) 11.36 (b )15.36 (c) 8.64 (d) 12.64




Q15. If a five digit number 247xy is divisible by 3,7 and 11, then what is the value of (2y-8x)?
T 15. A Ui 3T shl EEAT 247xy 3,7 3 11 & foasa 8, @1 (2y-8x) T HIF T 82
()6 (b)17(c)9(d) 11




Q16. . What 1s the ratio of the average of first eight prime numbers to the average of first ten even

natural numbers?
el TS SWIST HEATAT o e N It 38 H TTehidsh HEATSAT 6 6 3T ST 1 82
(@)1 :7(b)7:80(c)8:70(d)7:8




Q17. Rajan spent 10% of his salary on rent. He spent 20% of the remaining part of the salary on
transport. After which he spent 40% of the balance of the salary on food. Further, he spends 80% of the
balance on various bills. He deposits Rs.5000 in the bank and kept the remaining Rs.1480 for his own

petty expenditure. Find the monthly salary (in Rs).
TS A A T 10% ToRT 9T = shidT 21 98 Jd- o Y 9T T 20% IiesT I @< sHdT 8| 5k 918
3G Ad o AT AT 40% HISH T G [T 38k TATaT, a8 fafy= foret @ 91w afsr &1 80% &= @t 81 a8

e o 5000 T STHT AT & 3T IT 1480 T 39 BIE T o T T Il 2| HTHeh Ja (394 ) I

EAISR]
() 75000 (b) 80000 (c) 82500 (d) 64800




Q18. A man buys 21 mangoes for a rupee. How many mangoes had he sold for a rupee so that

there 1s a loss of 30 percent?

Ueh 3TTCHT Ueh ¥9 | 2 310 GHIEdT 2| 38 Teh &9 H fohd 319 &= o d1fer 30 Sfard <hi g1 g8
(a) 30 (b) 40 (c) 35 (d) 25




Q19. Anu fixes the selling price of an article at 25% above its cost of production. If the cost of

production goes up by 20% and she raises the selling price by 10%, then her percentage profit is
(correct to one decimal place):

3T Teh e AT Torshdl {od SHeh! SIS AT | 25% 3Tersh 08 a8 Al Icq1e AN 20% 51§ STt & S
T Torora A T 10% AT g et &, AT SHehT AT FcITa 37T 82

(a) 16.4% (b) 14.6% (c) 13.8% (d) 15.2%




Q20. R wants to deposit 80,000 in the bank for a year. In his account, the bank gives 12% simple annual

interest but charges ¥3,000 as a processing fee for the account. What would be his percentage earnings in
the account?

R Ueh 8 o feTU Sfeh H £80,000 STHT shiHT ITEAT 2 39k WTd H, S 12% HTLUT STfYeh ST &l & Wik ©Td oh
[TT SEEahL0T Yeeh o &9 H 3,000 3T Yeoh T ol TTd H IHeh! 3T AT TTc21d AT G2

(a) 8.75% (b) 9% (c) 8.5% (d) 8.25%




Q21. The angle of elevation of the top of an incomplete vertical pillar at a horizontal distance of 100 m

from its base 1s 45°. If the angle of elevation of the top of complete pillar at the same point 1s to be 60

then the height of the incomplete pillar 1s to be increased by

Teh JAYUT Seal e &iW o ST shT IHeh ST H 100 m &IfersT gl 0 I~ shivT 45° B 3fe Uk & foig ot i &w
o TS 3T =T 10T 60 BT &, AT 3707 &G 31 FeTg fohef1 IgT3 ST &2
(A) 50sqrt{2} (B) 100 m (C) 100(sqrt{3}-1)m (D) 100(sqrt{3}+1)m




Q22. The radius of the base of a conical tent 1s 7 m and its height 1s 24 m. What is the length of the canvas

that 1s 2.5 m wide required for this tent?
T 22. Teh Y[FATohT ] oh ST 3T AT 7 HIET 8 3R 366kl HelTs 24 HieT 8. 36 vl o6 foTu AT 2.5 HiX
SIS HAdT shl ASTS T 22

(A) 200 m (C) 260 m (B) 240 m (D) 220 m




